
Graphical Inequalities 

(Level 6 - 7)
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1 On the grid, draw the straight lines and shade the region that satisfies the following 

inequalities:

(Level 6)

𝑦 ≤ 4

𝑦 ≥ −2

𝑥 ≥ −3

𝑥 ≤ 1

Label the region R.

[2 marks]

Turn over for next question

Turn over ►
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2 On the grid, draw the straight lines and shade the region that satisfies the following 

inequalities:

(Level 6)

𝑦 ≻ 4𝑥 − 3

𝑦 < 6

𝑥 ≻ 0

Label the region R.

[3 marks]

Turn over for next question

Turn over ►
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3 On the grid, draw the straight lines and shade the region that satisfies the following 

inequalities:

(Level 6)

𝑦 ≤ 𝑥 + 1

𝑦 > −3

𝑥 ≤ 4

Label the region R.

[3 marks]

Turn over for next question

Turn over ►
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4 On the grid, draw the straight lines and shade the region that satisfies the following 

inequality

(Level 6)

𝑥 + 3𝑦 ≤ −12

Label the region R.

[3 marks]

Turn over ►
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5 Below is a graph showing the shaded region A. (Level 7)

Find the three inequalities which satisfy the shaded region 𝐴.

[3 marks]

Inequality 1 : 

Inequality 2 : 

Inequality 3 : 

Turn over for next question

Turn over ►

3

𝑨
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6 Below is a graph showing the shaded region B. (Level 7)

Find the three inequalities which satisfy the shaded region 𝐵.

[3 marks]

Inequality 1: 

Inequality 2: 

Inequality 3: 

End of questions 

END
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𝑩


